11/2/22, 9:33 AM Arctic Cat® Wildcat 1000 Dual Slip On Exhaust Instructions

aeamy:  Dvol Slip On Exhaust Instructions

For Models: Wildcat 1000 (2012-2014)

Removal

1) Use a Spring Puller or a Piece of Electrical Wire to remove the (4) Head Pipe-to-Silencer Springs and remove the

Silencer.

2) Remove the Donut Gaskets and inspect for wear or damage. Replace if necessary.

Installation

1) Install the supplied Silencer Bracket to the Silencers. using the supplied hardware. Do not tighten (See Figure #1)
2) Install the original or replacement Donut Gaskets into the Silencer Inlets.

3) Slide the Silencers/Bracket Assembly into the Rubber Mounting Grommets while carefully lining up the Inlets with the
Head Pipes.

NOTE: IT MAY BE NECESSARY TO LOOSEN HEAD PIPE NUTS TO ALLOW PROPER EXHAUST SYSTEM ALIGNMENT
4) Use a Spring puller or a Long Piece of Electrical Wire to install (4) Supplied Springs at the Head Pipe-to-Inlet Joints.
5) Tighten all the hardware.

STOP! Inspect all the areas around the exhaust system for proper clearance and adjust if necessary.

Hardware

(4) 400030 - Bolt - Hex - M8-1.25 X 20

1)

o (1) 400084 - Bracket - Mounting - Arctic Cat’
Wildcat 1000
&) (2) 6950096 - Spark Arrester | 2 in Standard
Assembly

(4) 400076 - Spring(s) - Long Neck

(4) 400073 - Washer - Flat - 1/4"

https://www.hmfracing.com/exhausts/arctic-cat/wildcat-1000/dual-slip-on-installation

1/2



11/2/22, 9:33 AM Arctic Cat® Wildcat 1000 Dual Slip On Exhaust Instructions

* Click thumbnails to enlarge

Figure #1 (4) Bolt - Hex - M8-1.25X (1) Bracket - Mounting -
20 Arctic Cat> Wildcat 1000

i
[

(2) Spark Arrester | 2in  (4) Spring(s) - Long Neck  (4) Washer - Flat - 1/4"
Standard Assembly

https://www.hmfracing.com/exhausts/arctic-cat/wildcat-1000/dual-slip-on-installation 2/2



